Garland Independent School District

GISD Sourcing Bid Tab Report Bid#: 31435 #151-15 Title: Office

Diu#.	31433 #131-13	Title. Of	lice	
				_
Quote	Vendor / Supplier	EPCNT	Discount	
5E+05	ACCO BRANDS	Yes	40%	
5E+05	BARNES AND NOBLE	YES	0-25% off	
5E+05	DGS EDUCATIONAL	No	5%	
5E+05	EDUCATIONAL	Yes	5%	
5E+05	MCKINNEY OFFICE	Yes	Up to 90%	off list
5E+05	SCHOOL SPECIALTY	Yes	"34% off	
5E+05	STANDARD	Yes	0.07	
5E+05	*STAPLES CONTRACT &	has	For items i	not specificall
	COMMERCIAL, INC.	interest		

*Confidential

	xtended
# Item Description (1714) Reason OOM Supplier Qty Frice	Price Note
	rrice Note
STANDARD STATIONARY	
1 PENCIL #2 - 12/BX Y BX SUPPLY CO 3000 0.5	\$1,500.00
	\$1,650.00 NA
*STAPLES CONTRACT &	
BX COMMERCIAL, INC.	
MCKINNEY OFFICE	
	\$1,920.00
	7 /2 2 2 2
DGS EDUCATIONAL	
BX PRODUCTS 3000 0.698	\$2,094.00
EDUCATIONAL	
	\$3,240.00
	, , , , , , , , , , , , , , , , , , , ,
	0-25% off list
BX BARNES AND NOBLE 3000 NB	NB price
PAD, LETTER 8-1/2"	\$88.00
2 X 11 80W EA SCHOOL SPECIALITING 200 0.44	\$00.00
STANDARD STATIONARY	
Y EA SUPPLY CO 200 0.51	\$102.00
*STAPLES CONTRACT &	
EA COMMERCIAL, INC.	
MCKINNEY OFFICE	****
EA SUPPLY INCORPORATED 200 0.59	\$118.00
EDUCATIONAL	
EA PRODUCTS INC (EPI) 200 0.89	\$178.00
PAD, LEGAL 8 1/2" X STANDARD STATIONARY	
3 14" Y EA SUPPLY CO 20 0.252	\$5.04
EA SCHOOL SPECIALTY INC 20 0.6	\$12.00
*STAPLES CONTRACT &	
EA COMMERCIAL, INC.	

Line #	Item Description	Award (Y / N)	Reason	UOM	Supplier	Qty	Price	Extended Price	Note
				EA	MCKINNEY OFFICE SUPPLY INCORPORATED	20	0.88	\$17.60	
					EDUCATIONAL PRODUCTS INC (EPI)	20	1.09	\$21.80	
4	PAD, POST-IT NOTE, 3" X 5"	Y			STANDARD STATIONARY SUPPLY CO	500	0.252	\$126.00	
					*STAPLES CONTRACT & COMMERCIAL, INC.				
				EA	SCHOOL SPECIALTY INC	500	0.26	\$130.00	
				EA	MCKINNEY OFFICE SUPPLY INCORPORATED	500	0.29	\$145.00	
				EA	DGS EDUCATIONAL PRODUCTS	500	0.29	\$145.00	
				EA	EDUCATIONAL PRODUCTS INC (EPI)	500	2.04	\$1,020.00	
5	PAD, POST-IT NOTE, 3" X 3"	Υ		EA	MCKINNEY OFFICE SUPPLY INCORPORATED	3000	0.16	\$480.00	
				EA	SCHOOL SPECIALTY INC	3000	0.16	\$480.00	
					STANDARD STATIONARY SUPPLY CO	3000	0.17	\$510.00	
					*STAPLES CONTRACT & COMMERCIAL, INC.	3000	0.17	\$310.00	
				EA	DGS EDUCATIONAL PRODUCTS	3000	0.18	\$540.00	
				EA	EDUCATIONAL PRODUCTS INC (EPI)	3000	0.78	\$2,340.00	
6	PAD, POST-IT NOTE, 1 1/2" X 2" (12/PK)	Υ		PK	STANDARD STATIONARY SUPPLY CO	300	0.96	\$288.00	
				PK	MCKINNEY OFFICE SUPPLY INCORPORATED	300	0.97	\$291.00	
					SCHOOL SPECIALTY INC *STAPLES CONTRACT & COMMERCIAL, INC.	300	0.97	\$291.00	
					DGS EDUCATIONAL PRODUCTS	300	1.09	\$327.00	
				PK	EDUCATIONAL PRODUCTS INC (EPI)	300	5.89	\$1,767.00	

Line		Award						Extended	
#	Item Description	(Y / N)	Reason	UOM	Supplier	Qty	Price	Price	Note
	MARKER, DRY ERASE, BLUE,				STANDARD STATIONARY				
7	CHISEL TIP	Υ		EA	SUPPLY CO	1000	0.223	\$223.00	
7				EA	SCHOOL SPECIALTY INC	1000	0.223	\$223.00	
7					*STAPLES CONTRACT &				
				EA	COMMERCIAL, INC. DGS EDUCATIONAL				
7				EA	PRODUCTS	1000	0.299	\$299.00	
					MOVINIEW OFFICE				
7				EA	MCKINNEY OFFICE SUPPLY INCORPORATED	1000	0.95	\$950.00	
								Y	
					EDUCATIONAL				
7	MARKER, DRY			EA	PRODUCTS INC (EPI)	1000	1.11	\$1,110.00	
	ERASE, RED,				STANDARD STATIONARY				
8	CHISEL TIP	Υ		EA	SUPPLY CO	1000	0.223	\$223.00	
8				EA	SCHOOL SPECIALTY INC	1000	0.223	\$223.00	
8				EA	*STAPLES CONTRACT & COMMERCIAL, INC.				
					DGS EDUCATIONAL				
8				EA	PRODUCTS	1000	0.299	\$299.00	
					MCKINNEY OFFICE				
8				EA	SUPPLY INCORPORATED	1000	0.95	\$950.00	
8				EA	PRODUCTS INC (EPI)	1000	1.11	\$1,110.00	
	MARKER, DRY							V 1,1 10100	
9	ERASE, BLACK, CHISEL TIP				STANDARD STATIONARY SUPPLY CO	1500	0.223	\$334.50	
9	CHISEL HP	Y		EA	SUPPLY CO	1500	0.223	 \$334.50	
9				EA	SCHOOL SPECIALTY INC	1500	0.223	\$334.50	
3					*STAPLES CONTRACT &	1300	0.223	ψυυ4.00	
9				EA	COMMERCIAL, INC.				
9				EA	DGS EDUCATIONAL PRODUCTS	1500	0.299	\$448.50	
							5.200	Ţ 1 10.00	
9				EA	MCKINNEY OFFICE SUPPLY INCORPORATED	1500	0.8	\$1,200.00	
9				LA	JOEFET INCORPORATED	1300	0.0	φι,∠υυ.υυ	
					EDUCATIONAL				
9				EA	PRODUCTS INC (EPI)	1500	1.11	\$1,665.00	
	MARKER, DRY ERASE, GREEN,				STANDARD STATIONARY				
10	CHISEL TIP	Υ		EA	SUPPLY CO	700	0.223	\$156.10	
10				EA	SCHOOL SPECIALTY INC	700	0.223	\$156.10	
10				E^	*STAPLES CONTRACT &				
10				EA	COMMERCIAL, INC.	<u> </u>			

Line		Award						Extended	
#	Item Description	(Y/N)	Reason	UOM	Supplier	Qty	Price	Price	Note
10				EA	DGS EDUCATIONAL PRODUCTS	700	0.299	\$209.30	
10				EA	MCKINNEY OFFICE SUPPLY INCORPORATED	700	0.95	\$665.00	
10				EA	EDUCATIONAL PRODUCTS INC (EPI)	700	1.11	\$777.00	
					(2. 1)			Ų. I I I	
11	TAPE, PACKING, CLEAR, 2" X 55YDS	Υ		RL	STANDARD STATIONARY SUPPLY CO	1000	0.52	\$520.00	
11				RL	*STAPLES CONTRACT & COMMERCIAL, INC.				
11				RL	MCKINNEY OFFICE SUPPLY INCORPORATED	1000	0.59	\$590.00	
11				RL	SCHOOL SPECIALTY INC	1000	0.95	\$950.00	
11				RL	EDUCATIONAL PRODUCTS INC (EPI)	1000	6.82	\$6,820.00	
12	TAPE, MASKING, 3/4" X 60 YDS	Υ		RL	STANDARD STATIONARY SUPPLY CO	400	0.528	\$211.20	
12				RL	*STAPLES CONTRACT & COMMERCIAL, INC.				
12				RL	MCKINNEY OFFICE SUPPLY INCORPORATED	400	0.71	\$284.00	
12				RL	EDUCATIONAL PRODUCTS INC (EPI)	400	1.48	\$592.00	
								,	bidding this item. Was
12				RL	SCHOOL SPECIALTY INC	400	NB	NB	unable to
13	TAPE, MASKING, 2" X 60 YDS	Υ		RL	STANDARD STATIONARY SUPPLY CO	1000	1.42	\$1,420.00	
13				RL	MCKINNEY OFFICE SUPPLY INCORPORATED	1000	2.1	\$2,100.00	
13				RL	SCHOOL SPECIALTY INC	1000	2.38	\$2,380.00	
13				RL	*STAPLES CONTRACT & COMMERCIAL, INC.				
13				RL	EDUCATIONAL PRODUCTS INC (EPI)	1000	3.18	\$3,180.00	
	TAPE, SCOTCH, TRANSPARENT, 1/2" X 36 YDS, 1" CORE,								
14	SCOTCH MAGIC #810 ONLY	Υ		RL	STANDARD STATIONARY SUPPLY CO	200	1.29	\$258.00	
14				RL	*STAPLES CONTRACT & COMMERCIAL, INC.				
14				RL	MCKINNEY OFFICE SUPPLY INCORPORATED	200	1.67	\$334.00	

		A						Establish	
Line #	Item Description	Award (Y / N)	Reason	UOM	Supplier	Qty	Price	Extended Price	Note
44				D.	COLLOGI, CDECIAL TV INC	200	4.74	#240.00	040110
14				RL	SCHOOL SPECIALTY INC	200	1.74	\$348.00	810H2 Please Note:
									3M, and
									manufacturer part number
14				DI	EDUCATIONAL PRODUCTS INC (EPI)	200	244	¢422.00	was not listed
14				RL	PRODUCTS INC (EPI)	200	2.11	\$422.00	on paper bid.
	TAPE, SCOTCH, TRANSPARENT, 3/4"								
	X 36 YDS, 1" CORE,				STANDARD STATIONARY				
15	SCOTCH #810 ONLY	Y		RL	SUPPLY CO	1000	1.5	\$1,500.00	
					*STAPLES CONTRACT &				
15				RL	COMMERCIAL, INC.				
					MCKINNEY OFFICE				
15				RL	SUPPLY INCORPORATED	1000	2.17	\$2,170.00	
15				RL	SCHOOL SPECIALTY INC	1000	2.19	\$2,190.00	
									3M, and manufacturer
									number was not
15				RL	EDUCATIONAL PRODUCTS INC (EPI)	1000	3.86	\$3,860.00	listed on paper bid.
10	ENVELOPE,			- \ -	. Nobooto into (El I)	1000	0.00	ψο,οσοίσο	D.G.
	MANILLA, 9" X 12",				DOO EDUCATIONAL				M
16	100/BX, WITH CLASP		4MO	вх	DGS EDUCATIONAL PRODUCTS	100	6.33	\$633.00	Min. order 100 box
16			7IA	вх	*STAPLES CONTRACT & COMMERCIAL, INC.				
10			/IA	DX	MCKINNEY OFFICE				
16		Υ		вх	SUPPLY INCORPORATED	100	6.7	\$670.00	
16				вх	SCHOOL SPECIALTY INC	100	6.91	\$691.00	
	FILE FOLDER,							,	
	LETTER SIZE, THIRD CUT,				STANDARD STATIONARY				
17	MANILLA, 100/BX	Υ		вх	SUPPLY CO DGS EDUCATIONAL	1000	4.7	\$4,700.00	MIN \$1050.00
17				вх	PRODUCTS	1000	4.88	\$4,880.00	
17				вх	SCHOOL SPECIALTY INC	1000	5.46	\$5,460.00	
					MCKINNEY OFFICE				
17				вх	SUPPLY INCORPORATED	1000	5.58	\$5,580.00	
					*STAPLES CONTRACT &				
17				вх	COMMERCIAL, INC.				
17				ВV	EDUCATIONAL	1000	11.99	¢44 000 00	
17	CLIPS, PAPER,			DΛ	PRODUCTS INC (EPI)	1000	11.99	\$11,990.00	
18	SMALL, 1-1/4", 100/BX	Υ		RY	MCKINNEY OFFICE SUPPLY INCORPORATED	100	0.14	\$14.00	
	100/DX		l	27	OO-1-EI-INGONI-ONATED	100	V. 14	Ψ1-1-00	

Line #	Item Description	Award (Y / N)	Reason	UOM	Supplier	Qty	Price	Extended Price	Note
18	·			вх	STANDARD STATIONARY SUPPLY CO	100	0.15	\$15.00	
18				вх	*STAPLES CONTRACT & COMMERCIAL, INC.				
18				вх	SCHOOL SPECIALTY INC	100	0.15	\$15.00	
18				вх	EDUCATIONAL PRODUCTS INC (EPI)	100	0.6	\$60.00	
19	CLIPS, PAPER, JUMBO, 2", 100/BX		8UM	вх	*STAPLES CONTRACT & COMMERCIAL, INC.				
19		Υ		вх	MCKINNEY OFFICE SUPPLY INCORPORATED	100	0.43	\$43.00	
19				вх	STANDARD STATIONARY SUPPLY CO	100	0.437	\$43.70	
19				вх	SCHOOL SPECIALTY INC	100	0.45	\$45.00	
19				вх	EDUCATIONAL PRODUCTS INC (EPI)	100	1.31	\$131.00	
	BOX, PERMA FILE, LETTER SIZE, 24" X 12" X 10", PERMA FILE BUDGETMASTER				MCKINNEY OFFICE				
20	OR EQUAL	Υ		EA	*STAPLES CONTRACT &	1000	2.42	\$2,420.00	
20				EA	COMMERCIAL, INC.				
20				EA	SCHOOL SPECIALTY INC	1000	5.91	\$5,910.00	
21	GLUE, ELMERS #372, WHITE, 4 OZ	Y		ВТ	STANDARD STATIONARY SUPPLY CO	200	0.8	\$160.00	
									This bid is for Elmer's E1322NR. Was unable to continue without
21				BT	SCHOOL SPECIALTY INC	200	0.81	\$162.00	selecting 372.

Line #	Item Description	Award (Y / N)	Reason	иом	Supplier	Qty	Price	Extended Price	Note
	nom 2 occupation	(1,711)	Trouben.		очрро.	٦.,		11100	11010
					*STAPLES CONTRACT &				
21				вт	COMMERCIAL, INC.				
					MOVINIEW OFFICE				
21				вт	MCKINNEY OFFICE SUPPLY INCORPORATED	200	1.1	\$220.00	
								·	Manufacturer
					EDUCATION AT				Part number is
21				вт	PRODUCTS INC (EPI)	200	1.15	\$230.00	not listed on paper bid
	CARDS, INDEX, 3" X				(2.)			V =00000	Paparata
22	5", RULED, 100/PK		7IA	PK	SCHOOL SPECIALTY INC	2000	0.34	\$680.00	
22		Υ		PK	MCKINNEY OFFICE SUPPLY INCORPORATED	2000	0.37	\$740.00	
		-							
22				PK	STANDARD STATIONARY SUPPLY CO	2000	0.39	\$780.00	
								·	
00				DIC	*STAPLES CONTRACT &				
22				PK	COMMERCIAL, INC.				
					EDUCATIONAL				
22				PK	PRODUCTS INC (EPI)	2000	0.6	\$1,200.00	
	EII M. I. AMINIATING				CTANDADD CTATIONADY				
23	FILM, LAMINATING, 25" X 500' X .0015	Υ		RL	STANDARD STATIONARY SUPPLY CO	1600	11.99	\$19,184.00	
23				RL	SCHOOL SPECIALTY INC	1600	13.43	\$21,488.00	
					DGS EDUCATIONAL				Min. order 125
23				RL	PRODUCTS	1600	17.99	\$28,784.00	rolls
					ACCO BRANDS				
					CORPORATION DBA ACCO BRANDS USA LLC				
23				RL	DBA GBC	1600	18.15	\$29,040.00	
					MCKINNEY OFFICE				
23				RL	SUPPLY INCORPORATED	1600	22.64	\$36,224.00	
23				Pi	*STAPLES CONTRACT & COMMERCIAL, INC.				
23			l .	ΝL	COMINERCIAL, INC.				

Line		Award						Extended	
#	Item Description	(Y / N)	Reason	UOM	Supplier	Qty	Price	Price	Note